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MULTIPLE.CHOICE,
Chogse the one alterndtive that best completes the statement or answers the question. (2.5 points/question)

1} Business cycle persistence refers to the property that
A) booms and recessions last a long time,

B) when real GDP is above trend, it tends to stay above trend, and when it is below trend,
to stay below trend,

C) real GDP is rarely exactly at trend,
D) business cycles are persistently hard to predict,

it tends

2) Forecasting the future path of real GDP by exploiting past statistical relationships
A} can be accomplished by the construction and use of an index of lagging variables.
B) can be accomplished by the construction and use of an index of coincident variables.
C) can be accomplished by the construction and use of an index of leading variables.
D) is never very reliable,

3) Percentage deviations from trend in the Solow residual are
A) procyclical and have about equal magnitude as percentage deviations from trend in GDP,
B) procyclical and larger than percentage deviations from trend in GDP.
C) unrelated to the business cycle,
D) procyclical and smaller than percentage deviations from trend in GDP.

4) If we represents a two-period consumer's lifetime wealth and r denotes the real rate of interest, the
vertical (future consumption) intsra:ept of the consumer's budget line is equal to

A) (1 + rhwe. B f1 " f} © {i:;}‘

) we,
5) When different consumers pay different amounts of taxes, Ricardian equivalence may fail because
A) alternative ways of collecting the same tax revenue can affect the distribution of income.
B) higher taxes on more talented people may be politically popular,
C) such differences in taxes create credit market imperfections.
D) consumers can become jealous of one another.

6) Any increase in the present value of taxes for the consumer implies
A) an increase in lifetime wealth and a decrease in current labor supply.
B) a decrease in lifetime wealth and an increase in current labor supply.
C) an increase in lifetime wealth and an increase in current labor supply.

D) a decrease in lifetime wealth and a deﬂrease in current labor supply.

7) A temporary increase in goverrunent spending that leads to only a small decline in lifetime wealth
likely shifts the aggregate demand curve to the
A) left by more than the leftward shift in aggregate supply.
B) left by less than the leftward shift in aggregate supply.
C) right by less than the rightward shift in aggregate supply.
D) right by more than the rightward shift in aggregate supply.
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8) In the Friedman-Lucas money surprise model, a surprise increase in the money supply
A) increases the price level less than in proportion to the increase in

he money supply,
B) increases the price level in an equal proportion to the increa

ase in the money supply,
C) increases the price level mpye than in proportion to the increase in the mo ey

» ney supply.
DY hasno-effect on the prige layst

9) Using the Keynesian model, the effect of a government-imposed ceiling on interest rates paid on
personal checking accounts that is lowaer than the current market interest rate would be to cause
in the real interest rate and in output in the short run,
A) adecrease; a decrease B) anincrease; a decrease

a
C) a decrease; an increase D) a decrease; no change

10} Suppose the real money demand function is
MA[P = 2400 + 0.2 Y - 10,000 (r + 7E),

Assume M = 5000, nf = .03, and Y = 5000, If the price level were to decrease from 2.5 to 2.0, then the

real interest rate would decrease by how many percentage points (assuming M4, n€, and Y are
unchanged)?

A)4 B) 14 )9 D)5

1
i

11) If a French company exports $2 million of machinery to Italy and French tourists spend $2 mil

on
at Italian beaches, the Italian current account balance and the Italian capital and fnancial

L

account balance .
A) rises; is unchax&ged B) is unchanged; rises
C) rises; rises D) is unchanged; is unchanged

12) A large country imposes capital controls that prohibit foreign borrowing and lending by dom
residents. The country is currently running a ¢
of the capital controls will cauge

A) real world interest rates to rise.
C) desired national saving to fall.

apital and financial account surplus, The imposition

B) real domestic interest rates to rise.
D) net exports to decrease,

13) Which of the following machines has the lowest user cost? Machine A costs $15,000 and deprediates
at & 25% rate, machine B costs $10,000 and depreciates at a rate of 20%, machine C costs $20,000 and
depreciates at a rate of 10%, and machine D costs $17,000 and depreciates at a rate of 11%. The
expected real interest rate is 5%

A) Machine C B} Maching B C) Machine A ) Machine D

14) Suppose your company is in equilibrium, with its capital stock at its desired level. A pe
increase in the depreciation rate now has what effect on your desired ca

A) Lowers it, because the user cost of capital is now higher

B) Raises it, because the future marginal productivity of capital is higher
C) Raises it, because the user cost of capital is now lower

D) Lowers it, because the future marginal productivity of capital is lower

rmanent
ital stock?

15) How many people are unemployed if the employment ratio is 75%,
employed, and there are 20 million people not in the labor force?
A) 20 million B} 10 million C) O million

there are 90 million people

D) 5 million
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16) Suppose the real money demand function is
MA/P = 2400 + 0.2 Y - 10,000 (r + ).

Assume M = 5000, P = 2.0, and n® = 03. If ¥ were to increase from 4000 to 5000, then the real

interest rate would increase by how many percentage points?
A)5 B) 4 Cy7 Dy2

17) Real domestic interest rates would increase in a large open economy if
A) the government imposed capital controls and the capital and financial account had been in
deficit.
B) there were a temporary negative domestic supply shock.
C) foreigners were more willing to save,
D) there were a temporary negative supply shock abroad in a small open economy.

18) The uses-of~saving identity shows that if the government budget deficit rises, then one of the
following must happen.
A) Private saving must rise, investment must fall, and/or the current account must rise.
B} Private saving must rise, investment must fall, and/or the current account must fall.
C} Private saving must fall, investment must rise, and/or the current account must rise.

D) Private saving must rise, investrnent must rise, and/or the current account must fall.

19) Suppose that private saving is $1590 billion, investment is $1945 billion, and the current account
balance is -$489 billion. From the uses-of-saving identity, how much is government saving?

A} $134 billion B) $844 billion ) ~$134 billion ) -$844 billion

20) Suppose Japan is currently running a current account surplus, The most effective way of
eliminating this current account surplus would be to temporarily government purchases
and __the domestic money supply.

A} increase; decrease
C) increase; increase

B) decrease; decrease
D) decrease; increase




B X F B XK 2 4 A«

08 LK _WHES % () B LHEANEL K

fa_emass EEPRYE AN PR T €F 20 RuE

1. 25%) BRALEHTEOEMT  AARGAELTOHLE - FHERMEA T TR
BOHMEREBEH ST HAMTROBE?

2 (25 4) BIRBA 60T K K A4 F 5 A0 3600 R(ERMMAD FRI AT » LIARAA M £

SR 20 £ TR EH RS T B RRIRSFEUT L M6 34y o R BT 6 8RR
MRS FHRARFAGENBAEEFMTHE? (BB H  BREFRANFAAEOTHYA
FEMEF LAATHRE )




